CHAPTER ONE

GRAMMAR & STRUCTURE
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7= Example 1: A desert receives less than twenty five ......... of rainfall every year.
1) centimeter 2) acentimeter 3) centimeters 4) of centimeter
Answer: (3)

S less Ol sl YO 51 S walls o bl 5o

il oz g boled LB ool dWENLY FIVE I sns xpdgd

7= Example 2: In 1950 it was naively predicted that eight or ten computer would be sufficient to handle all of
1 2 3 4
the scientific and business needs in the United States.

Answer: (3)
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In 1950 it was naively predicted that eight or ten computers would be sufficient to handle all of the scientific and
business needs in the United States.
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wolf — wolves , wife » wives , shelf —» shelves , life - lives , knife - knives
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man—> men woman — women child — children foot — feet tooth — teeth
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poor — the poor
The deer is beautiful / The deer are beautiful / | saw adeer
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chicken (¢ 0 cua55) — chickens (ows; sloaxg>)

hsloss BB chsleis B
hair (w s9) = hair (50 sla,b)
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She want’ s to color her hair. A5 S 1 alage salys e ol
There are just afew haris on the professor’ s head. 5,18 359 sliwl jw (59, g0 LB di lais
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® Fluids (ol : blood, water, ail, coffee, tea, gasoline
® Food (las) : rice, sugar, fruit, milk, bread, butter, cheese
® Raw materials (s> ols) - WoOd, paper, glass, iron, silver, wool
® Gases (l»;15) : oxygen, nitrogen, air, pollution, steam
® General (_s.¢) : furniture, mail, money, traffic
* Academic subjects ( aXzils slaas,) : chemistry, mathematics, physics, psychology, linguistics
e Languages (la.,L; : English, Chinese, Japanese, Spanish

® Abstract things (I3l sla ) : education, health, beauty, intelligence, knowledge, sleep, hope, music, time

His knowledge of language helps him in his work. CAS e S gl ay 55 e Sby il
8o asd pgu Jad
Linguisticsis achallenging field. ol (655 e gty o cmliils;
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aclimate - climates s 5 o1 weather
alaugh — laughs PRvES laughter
ahuman being —» human beings o] humanity
ajob —» jobs Jas work
amachine —» machines ol machinery
aman — men g mankind
asnowflake —» snowflakes Sy snow
asunbeam — sunbeams olsl e sunshine
atraffic jam — traffic jams Sl traffic
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Incorrect : A-machinery-inthefactory-needsto-be fixed:
Correct : Machinery in the factory needsto be fixed.

Correct : A machinein the factory needsto be fixed. R RRONS PR I INL O GRPH S L

Incorrect : Wearelate because we got-stuck-inatraffic.

Correct : We are late because we got stuck in traffic.
Correct : Wearelate because we got stuck in atraffic jam. oldl 8 15 50 e 20,5 po be

Incorrect : NewYork-hasagood-weather:

Correct : New York has good weather.
Correct : New York has agood climate. S8 w95 slgn g ol oS 00

Incorrect : Ataughteristhe bestmedicine:
Correct : Laughter isthe best medicine.

Correct : A laugh isthe best medicine. el 005 (Lo, Cp yite

Incorrect : Weare supposed-to-have asunshine thisweekend:

Correct : Weare supposed to have sunshine this weekend. Aol LSl gn atin ;2145 55 0 o
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sonHnHaw lls)y = sons-inHaw (laslls)

father—inHaw (ags,o (5,0 —  fathersHmn-Haw (e ees,0 dagy;,w)
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high school (e ,s) —  high schools (gl us)

PUSSIOP (Lwggl oK) —> DUSSIOPS (gl (sloolSnsl)
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Twenty dollarsisthe price. ol Yo Vel culd

Four miles has been recorded on the odometer. ol o0 Cd ey jiegkS jo ( ble ¥

Bgys0 )5 w4 (eol) ez Ja8 b s ol ol 5l pan - o

police: ..l clergy: s>, publiC: pgec (oo,
The police were on the scene last night. Dy i 43 ALBIS b ks

Bgy0 5 W e J3 boo g 0500 Jxd b oo slol (ol 5l pan -z

audience: |La> group: 5,5 family: oslgils faculty: sasails lfisls ole con
team: o chorus: Saslss aws committee: a.s

tribe; al_3 band: .L majority: ¢ zs1

army: sl orchestrar -5us3les atws population: ¢ s>

The audience was/were clapping for 10 minutes. DS oo Cewd ABBS Vo gl L
A group of usis/are going to the theatre this evening. Ngyse S5 4 pac j9pel b 5l 29,5
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either + Jgl el + OF + pg0 Jebd

neither + Jol Jeld + NOr + pgo Jeld

2. Example 3: Neither Ali nor his friends ......... to the movies.
1) goes 2) go 3) isgoing 4) has gone
Answer: (2)

oS oo o0liin] go Jub 5l el o (NISTHENS) pgo Jeld 9> irmdgs

loe (00le) UKo (e b o jg0 & diirods ¢ Jad (oS zo@NA L Lazs L A and B both L both A and B L1, Jebs g5 puplgse S1-

Both + Jgl Jels + and + pgs Jelé

+ o0 (0olw) gosr & yguo 43 Adod (J23
J9| Jclé +and + P9o Jclé + both

Both Ali and Reza speak with their teacher. AL oo oo liedae b L, ob g e oo

L, Ali and Reza speak with their teacher.

2. Example 4: Both Reza and Mina ......... English.
1) study 2) studies 3) isstuding 4) has studied
Answer: (1)

lgS oo (oSl e o2 9 LS o
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(Quantifiers) blodcaeS ’
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another , each , every

Every student must do his own homework. Ao plosl ) (Bog S Wb jeel iils o
Each gland has adistinct purpose. S8 catuin Bas (s 00d) (slosé
He' s bought another car. el 00y > (6,508 (pale g

W90 5 & o hyleds BB (coll b baild biloiccwns 51 (S W

both , many , a few, several , fewer, a number of, a group of

We have fewer cells as we get older. D9 se yuS Hlesld Jolo slaws g so yidn bo o ;08,0
There are many students who registered in this course. As,S pbead sy ol 50 6k g0l tls
He lost both his parents when he was a child. Dl s 1 Granally 98 58 ( Sog5 48

15 o o0 318 00liiusl 3590 b lods B el (solusl b aild Waleicial 51 ;K50 5 M

a little , much , less , amount

The amount of oxygen available to the brain is important. )18 Coedl 0,8 oo S8 jre LS j0 aS ShenST e

If your brain gets less oxygen than it needs, you could become unconscious.
IRVPVITY SRRUINE RN GUIPREL JLt- PR W I RSP PRV PSS BSLON ) PUWIS S PR o

| earn |ess money than a post. oS o0 Sl 0 (568 Jay (s Sl e
2. Example 5: Although southern California is densely populated, ......... live in the northern part of the state.

1) alittle people 2) afew the people 3) few people 4) alittle of people
Answer: (3)

4*.560 U;b\;)uJL.lu..l ‘;LQM&M)QC’.QSQA.CLA‘ w@ls SJIﬂW@P b, 4> Sl
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2. Example 6: Although the Ojibwa Indians fought frequently with the Sioux, they didn’t have ......... with
early white settlers.

1) much contact 2) alot of contact 3) many contact 4) large contact
Answer: (1)

oS 00l MUCH 51 sl o el 3yl BB 2 CONLACE (soly :md o5

72 Example 7: Unless one subscribes to a large metropolitan newspaper such as Wall street Journal, or the
1 2
Washington Post, one will find very few news from abroad.

3 4

Answer: (4)
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7= Example 8: Many heavy work that was once done by hand can now be done more easily with the help of

1 2 3 4
compressed air.
Answer: (1)
ols bl Ll 4y 08,83 glga oS L ol oo ST s oo plonil Cews b Sloj a5 1) S sl )15 51 6,k
oS ool much Sl ol 5l k3 g el Goyleis BB e work 097 ol w0l Y (ga 35 ipamd gl
W90 ) 4 hyleds BBy g 2o Lot BB (coll aitws 90 po b ool oS 31 500 (S W
all , a lot of, lots of , plenty of , enough , some , any , most , more, no, none of

Most animals rely on instinct. A 05,6 4y daly Dllgu> ST
Brain cellsuse up alot of energy. DS oo B rae 0L 65 (e sl gk
I’ll take al three shirts. Sy el ) el aw e
More university students are having to borrow money these days. QS 558 g A ygamme (6 yden bgaeiils g, ol
Would you like some tea? Sl oo s>

S950n go ol yley OF < €ACN 31 oy 5145 ity atls gy s Tz
Jtw : Each of the students.

Each of the glands.

P 9 el dlust & )
D9 o ookl Lol slacl 5l el 51 o g (o5 Slael el 51 iy

We left before the beginning of the third act. We left before the beginning of act three.

o yoas gl ! Lol sue
w25 SF e S g o3 £9,8 5l JS Lo
Y our tickets are for gate ten, section B. ol €O Cand (v Il (6l L slalals
ol Lol sus
Ay gs olsl o LQQBA)"‘ U oS dxgl ) Cawyol g ey Doz a4y eS|
Incorrect :

Correct : Look in the second volume of the Modern Medical Dictionary.

Correct : Look in volume two of the Modern Medical Dictionary.
DS dal ey e (S Dl e 3 pg0 al> 4

Incorrect :

Correct : Flight 656 for Los Angelesis now ready for boarding at concourse seven.
el ] 3lace 53,5 g goslel ccin o 10 4950« udou o duaie 4 FOF 5lg
el el NG Gy a5 Gy 5 olael 1 s a8 Jl 48 08,5 oo ool the G a5 B > 51 Lol slael 51 i S oo oolis a5 jghailes
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